18.

19.

(ear) Sleiemy  F&5 @5UUU®'—D S{erey - a@m warfl GEU@;’]D@
10 SiwEseT @ 5. 1.75 & waf] Gmwm@ :

(6T) LD&®S oramQanris : 8 el Gprb eder BT QETNES
= 20 DpGLD. » ’
() pl&tGeunt ucmrrl_rma;m 8 wenfl Gprib 2.6TeT BHIET QETNIES
. 10 -
(@) Quidr ouCriLt eaflukisdr 8 wesfl Gprb 2 GTeT [BITET
" Q@aImI&@ ;. 100 . '

What are the features of job costing?
Ll @i_ssefemaulweier HnUiudLser wramel ?

From the following data calculate the cost per mile of a vehicle.

Rs.

Value of vehicle : - 15,000
Road licence for thel )'rear 500
Insurance charges per.year 100
Garage rent per year . 600
Driver's wages per month 200
Cost of petrol per litre , 8
Miles per litre 8

Proportional charge for tyre and o
maintenance per mile 20
Estimated life 1,50,000 miles
Estimated annual mileage 6,000 miles

Qereugmid sreysaNadlBhsl Gk aursasdnE ;_%@Lb S @wSETar

QN6 SIS :

(e
aunsagSar i 15,000
a;i,mr@asa;rrm gnene 2 M. 560
S ATHEES a;rrutﬁ@ SL_L_GTIRIGET 100
S @l eamsd Cebrsy ur ams 600
wTESSHE LGB 2adwib 200
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20.

21.

QuLCGrred elena L L (H&S 8
O QRENTDISHE NLDDSET 8
LD QRETMISE LW bHDID

ugmofiyssret N&grary &L awmb 200 o0
LHUN_ DU Qe 1,50,000 enwevaar

sasd Ll L aumLrpr eioGas 6,000 epwdrsar

PART C — (3 x 10 = 30 marks)
. - Answer any THREE questions.
Distiriguish between Cost Accounting and Financial Accounting.
SlLssdme sansdud whpbd HHs sarsdud CapLdssis-
Record the following transactions in Stores Ledger pricing the
materials under FIFO method :
May 1 Balance 50 units at Rs. ?5 per unit
',3 Received 300 units at Rs. 30 per unit
5 Issued 200 units
7 Issued 200 units
: 8 Received back 10 units (issued on 7t May)
10 Returned to vendor 15 units purchased on 3 May
15 Received 200 units at Rs. 32
18 Issued 150 units |
10 —~ Tssued 50 units

The stock verifier found a shortage of 10 units on 20" and left a
note.

(e (mLd urﬂraurrg;g,mama;mm FIFO wepuler &p QumpLlsmand
sansdl 6 LarLs CUGH gD Ldea) Qswiwiab.

Co - 1 QLY 50 SIR@GSET, VG REATNES 5. 20 -

3 oeE een . 30 aar 300 ADGSHT GupUULLE
5 200 Sie@SeT euphISILILL G
7 200 Si@@sdr euphisIULLg)
8 Srbuy QupLuLL S@E@Esd 10 dAeGsar (G 7
 S|eTM GUPRISUILIL L GI) : L
10 . G 3 e aunmadlu 15 é{@@&@&@ elHueneTITeT(HES,
Hmw s .
T € ' 60574/AY25A



22.

23.

15 @@ et . 32 ear 200 S@@sa GupiulLg)

18 150 si@@ser aupmsUULL gl

19 50 S@s6eT auphisluLlL g
20 b GaSlwern @iy sfumiliuer 10 oGS LDDTEESenDUINS
Gy sanplbs @ GO eIGLILGeTers).
During the first week of April, the workman Mr. Kalyan
manufactured 300 articles. He receives wage for a guaranteed
48 hours week at the rate of Rs.4 per hour. The estimated time
to produce one article is 10 minutes, and under incentive scheme

the time allowed is increased by 20%. Calculate his gross wages
according to

(a) Piece work with a guaranteed weekly wage
(b) Rowan premium bonus and

(¢) Halsey premium bonus : 50% to labour.

GLired wpsd angsdld, QemAarefl S, sowram 300 GummLsar
surfisdprr. em el Corsfloe @4 aap eldsssio
48 wefl Gpy essrars sadind Qupdlprr. @@ QAUIHeEr
swnfluuspsrar Gy 10 Hbl_ksdr @b, eases S S
s@wissn Copb 20% @fafssuu@n S odrer dpempLrilig
pa1gl QIS 2adUksmaT Sass (s

(<) S NdssgiLdn 2 s57ams aunrhbdly eagu (panD

(<) Grmeuen WfBlwid Gumeare wHHILD

(@) aprdedl GFfSwb Gurensn : 50% Ggmlemari.

In a factory, there are two service departments P and Q and

three production departments A, B and C. In April 2022, the
departmental expenses were :

Departments Rs. Departments Rs.
A . 650,000 P 1,20,000
B 6,00,000 Q 1,00,000
C 5,00,000

The service department expenses‘ are allocated on a percentage
"basis as follows :

Service Departments Production Depts. Service Depth.
A B C P Q
P 30% 40% 15% - 15%
Q 40% 30% 25% 5% -

8 60574/AY25A

17.

(d) Employer’s contribution to P.F. 8% of (a) and (b)

() Employer’s contribution to state insurance 5% of (a), (b)
and (¢)

(® Number of working days in a month 25 days of 8 hours
each.

Gareumd  efaiphsailambsl. wafl CrrsddEe @O DbUMBSS

Gsmfleoreri Cemwamel 8 sarsslHkiser :

() SjglLienL FOLGTD BIET QETM&EE €h. 75

(<) @sefo@iiug 100 &b Cuarer geiGaimm erallseE

. 20 eust (Qsmforerisenssiean eurpdams @OUELH dewel)
sHCLmmsw eflaaairs GOHUSLE 800 Ldreflser

@) &Apuy FOLGTLD GTaiLIg) (<B1) HMID (=) — 5% @D

() Gsw po f,]'é,]é;@ wpserafllufer ukisefliiy erarug (1) wWHHID
(3)) —6) 8% Y GHD

(2) wrleo smuil@ wpeereiwer Lhisalily earug (1) wHMIL
(=}) —6 5% Y&HLD- :

(2ar) @(m wIgsHHsTar Cauame B g6 8 wenflse aigh 25 Hr_ser

2B GD-
Calculate the machine hour rate from the following.details : .
(@) Cost of machinery . Rs.45,000
(b) Installation charges Rs.5,000
(¢) Life of machine 10 years
(d) Working hours per year 2,000

e epair charges : 50% of depreciation
() Repair ch 50% of d iati

(® Electric power consumed : 10 units per hour @ Rs. 1.75 per
- hour

(2 Lubricant oil: Rs. 20 per day of 8 hours.
(h) Consumable stores @ Rs.10 per day of 8 hours

(i) Wages of machine operator @ Rs. 100 per day of 8 hours
Gemeumy  Aaurrsaldmbs Qubdy wefl GCpr élgsams

sa&S HS

(<) @Quipdriiser eflene ¢h. 45,000

(<) QuUIBHSSISDH S LTRIGET (F. 5,000

(@) Qupdrsder L smon 10 HparHiser

(FF) Geuanad Cprb @@ auBLsHn@E 2,000 wenflsdr

(2) sfluniiy sl Lard : Caulorargdled 50%
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15.

16.

éqg‘u'mcﬁua; Cuplseweysar Ceauame Goeweid 10%, . edlpuener
CopRsweysdr i@ M. 1.50 gL, Qa@sed 2.husd
4,000, (. 50 @iglb 3,600 Seo@ser fihsslul g q Gewas
gsrener  sunt  Qelg S EmES Oswey LHmIL @TUD
Qg Fweuperns sT(HS.

From the following data for the last twelve months, compute
re-order level, minimum level and average stock level of a stock
item :

Maximum usage in a month . 300 kg.
Minimum usage in a month. . 200 kg.
Average usage in a month 225 kg.

Time laé in the procurement of materials :

- Maximum . — 6 months
Minimum ] — 2 months
Re-ordering quantity — 750 kg.

sLbs LaaflQran® wrsmsEps@l e, Gearaimnd sreysened®hs)
Ui Gummerseilan g emen B, GonbisULs B wHHID
ermafiumer sysdlmiy Hlaasmer s (Hhisar.

@ wissHe fsur e uwearur® . 300 CGer Symb

@@ LIssHd GopbsuL e Lweatur® 200 HCGer &ymbd

@ wrssde syrefl LweTLTH 225 fGeaom flymbd

QummLa6ar eurbiGeudled Gy Smogd :

SFsULsIb — 6 wrghiseT
GSODHSLIL&D = 2 g
o e vetey — 750 ACGam SHymd

From the following particulars, calculate the labour cost per
man — day of 8 hours : :

—

(a) Basic salary Rs. 75.per day

(b) Dearness Allowance 20 paise per every point over 100
(cost of living index for workers). Current cost living index
is 800 points.

(¢) Leave salary 5% of (a) and (b)

4 60574/AY25A

24.

Geanacu glanDaaT

Prepare a statement showing the distribution of the two service
department expenses to the three departments under the

(a) Repeated Distribution Method and
(b) Simultaneous Equafion Method.

- om Gsmipsraade Grar® Gsmar sapsd P oppb Q whpib

ey 2 puss giopsd- A, B wppd C dumen 2drarar.

2022 gUIFd Mg, gampeurfluirer Qgwellarmbiser : -

.Gl D& T e " Glenpser .
A - 6,560,000 . P 1,20,000
B ; 6,00,000 Q 1,00,000
c 5,00,000

Geanou gianp QFaeysdr #geis <ligliue@Lwldn udlieug Kearamorm:
2 HuSHS siwpsdr Crmeus gleavpaer

A B C P q
P 30%  40% 15% ~ 1%
Q ' ' 40%  30% 25% 5% -

Qran® Ceamweu gampseaileanr Qeaeiser epern 2 HLSSH QJGD,[DBS@.S@
AFCurdlssiLBL | ydEamsanw Sp&sTamILb e psafled
SWIM&Ea|D.

(=) Hmbu Hmpbu AQFCLTs wenp LHHID

(<) @Cr Crprsdled swamur® (pevp.

A product passes through three distinct processes to completion.
These processes are numbered respectively I, IT and III. During

the week ended 15% January 2022, 500 units are produced. The
following information is obtained:

Pfoce'ss I  ProcessII Process II1

Rs. Rs. Rs.
Direct Materials 3,500 1,600 - 1,500
Direct Labour 2,500 2,000 - 2,500

The overhead expenses for the period were Rs.1;400 apportioned
to the processes on the basis of wages. No work-in-progress or -
process stocks existed at the beginning or at the end of the week.
Prepare Process Accounts.
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2@ surfliy Wwyés ey safisgeuwnrar AswdpeDsET eufluins
Qsavdpgl. @ps Qeudpeampsdr @enpGu I, 11 DO II_I
spflweupeps @hladeipear. 2022 gmareufl 15 <gpid Gg,,ef;]yi__eur
W@l bs amysdd, 500 S@@ser e pugd Getwiu@deapar.
saele Wareupd Quplul Hererg.

" Qewowep I Gewdweap I Qswdgpap 111

- - -
Gprg QuigLad 3,500 1,600 1,500
Gprg Qsmferart 2,500 . 2,000 2,500

Goe Mlevew Qoweyser . 1,400 saflukiser BjigliuamLuid
Qewdwpeapseasse Udipsalsaslu@dng. amsder Gsm ssib
sidazs @oEldd cprapr Ll Sdeg Ceudpan Gmuy
arglalb Gldama. GaLdipenn Samsamssd LTSS L.
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12.

13.

14.

Sipsadn  efluptiselldfimpg - Job  No.l12  @er 2 puss
Geasilasms 2 ndiL@sss : i ' ‘

/

QurmLedr ¢ 28,000
earfluiiger e5. 11,5600
Geuaner Qaeey - eaflugdled 20% <G

SiQeupss Gsdey ~ Came Qewaildn 10% w2y @b.
What do you mean by normal loss?
gngnyent peisl b ubd Belir wibleug eremear?
PART B — (5 x 5 = 25 marks)
Answer vany FIVE questions.' :
What are the objectives o-f cost accounting?
SiLésellana sansdlen CrrésmseT wWranal ?

The following data is related to the manufacture of a product
during the month of January. '

‘Raw materials consumed Rs. 80,000
Direct wages - Rs. 48,000
Machine hours worked ~ 8,000
Machine hour ;‘af,é Rs. 4

Office overhead 10% of works cost, Selling overhead Rs 1.50 per
unit, Units produced 4,000 Units sold 3,600 at Rs 50 each.
Prepare a cost sheet and show cost per unit and profit for the
period. ' |

Weraumib sreyser gareufl wrgsded 2.HusH CeLwtiurL g
Qummer QsmiLirers)

" epeLIQUITHL ST ‘ e5- 80,000
GCrig 2ardlwib | . 48,000
Bupdyw Cauma Gsiisg 8,000 werflaer
@wwrf wenfl Cpy efldlgib - 4
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10.

11.

Calculate overhead rate based on prime cost.
Factory on cost : Rs. 2,30,000
Prime cost  :. Rs. 4,75,000 .

Argrer - efeneuler epm;u_umg_‘uﬁeb Cuaflae Oswe. dssms
san&E(HmISEr | _

lmass Asmdvsrame : . 2,30,000
Yysrer eflene . : . 4,75,000

Define “Overhead”.

- “GupQswasdr’ QJGbUUJQJ. ‘

What is operation costing? -
Qewe <isseleeuluied eTemmme eTeitan?

Calculate total kilometers from the following

Number of buses . ‘ 3 4

Number of days operated in a month : 30

Distance travelled ' {100 km (one side)
Nurﬁbe’r, of trips per day 3 2

Wentaumeudledl g Gonss HGon B ismer samsd (s :
Guibsiselen aramesms 2 S

(5 LIEHHD @uqésa;ﬂf.n@ib prisaflen areinenfidos ;30

LweRT HTPD ‘ : » .1 100 &8 (g yptb)
BeT @TNISE LemiisdT crairenisans S

Ascertaih» the cost of p‘i'oduction of Job.No.112 from the
following; ' .

-

M_éteﬁals_ Rs. 28,000

Wages . R»s: 11,500

Wo_fké on é.os-t ' 20% on Wag,es
Office oﬁ cost 10% on WQrks cost

2 | 60574/AY25A.
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&

Time : Three hours - - ' Maximum : 75 marks

.« PART A— (10 x 2= 20 marks)

Answer any TENLquestions,. i

' What is meant.by cost, accounting?

D65 flenay FamESwd. Tt WTee ?

What is cost sheet?
Qeeve| eT eremmTed GTebme 2

Cal,cuiate: Economic. Order Quantity from the’ vfollowing

" information. : :
Annual Usa_gé | — . 600 units
Cost 6f plﬁcing aﬁ: of,der i - Rs 12 j
Prioe’of Mat_e‘riél per unit — Rs.20
Cost of 'storagé ' — 20% '_ |
Qereu(pld sEeudsaNLO(HHE SEsan Sman oiaTaal a;afvré;a‘ﬂ@as g
m@ané,]U LweTuT ) . - — 600 éia)‘@asei'r
@ QQW@GMT éb'suﬂpg,;b_as‘rrm Qsway — . 12;. |
fge"oﬂl'_ RETNISS Qurr@eﬁ @mw, - . 20
‘G#Lﬂﬁ“-l "Qé@@{ | - - 20%

* What is material turnover? ,

peLCummeT spHal actrmrrei)-dshm? ,

What is idle time?

 Qswepp GEylb erempmed eraben ?

Calculﬁte the wages aQCOfding to B.arth system.
Standard time — 10 hours - '

" Rate per hour —Rs.5

Time taken  — 8 hours

unirg @mmuﬁ]sﬁfr_ &b saclanw a;mrésé]@_.
Benavwirer Cpyid ' - 10 wafGpyL
LoauﬂCB;mlj'ah:é\Sl ‘ ; - . 5 |

- a@sgsQamaeiutL Gerb  ~ 8 werfl Gpywd

xS ol Acwunb.‘y

x=-
-~
....\



